Foundation

BE THE NEXT GENIUS

Hindi Class 6 Sample Question:

English:

Q1 You don’t need much food to feed those.

(Choose the pronoun in each statement and choose under which variety does it all
into.)

(A) reflexive, demonstrative
(B) personal, reflexive

(C) possessive, personal

(D) personal , Demonstrative

Q2. On the other hand, where can you get a tasty ice cream cone?
(Choose the correct adverbs in the following sentence.)

(A)frequently
(B)really
(C)tastily
(D)yesterday

Q3. Tomorrow after school, | (go) to the beach.(Simple Present/ Simple
Future/ Present Continuous/ Future Continuous)

(A)will go (B)will be going (C)am going to go (D)am going
Q4.What does ‘it slipped my mind’ mean?

(A) Forgot to do something
(B) Just remember to do something



(C) Something went past my head
(D) Cannot understand anything

Q5. Select the correct meaning of the underlined word from the options given.
It's raining cats and dogs today. We will have to cancel our field trip.

A)lt’s raining heavily

B)It's sunny

C)lt's very warm
D)It’s windy
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Q6. 4, 6 3 5 T TIH BIET HHY OIS T §7?

(A) 30
(B) 60
(C)24
(D) 36

Q7.Wr§ﬁaia$q@$aﬁwﬁmwa—cﬁ%‘?

(a) 55°
(b) 70°
(c) 60°
(d) 90°

Q8. &Y IS ATfelahT IR 7 Tl dsh Teh AT T dTIHTT g2ATr §1

Hour (1|2 |3 |4 |5 |6 |7

Temperature
(°C)
7 ©¢ &1 7T H AT & ITIdH 3R AFTdH AT & ST 3T T 01T HY |

—-615(-2123|12| 0 |4

(A) 17°C



(B) 29°C
(C)21°C
(D) 25°C

Q9. BIIfehe 3T T &TThel FT 872

1cm

4+—>
1cm I

(A) 4 cm?
(B) 6 cm?
(C)8cm?
(D) 10 cm?

Q10. 40 #HeX o 3R 20 #Hrex =isrS arel & 3mIarHR #Es fewm v &,

Length

Width Width

Length

TAlE ehY JT8 ol3TTet ehY SIaTd T §72 4 9T Hex?
(A) 16000

(B) 1600

(C) 640

(D) 6400
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Q11 =1 e SiTeTaRi/siat & w1 few are &:

Tl ; HIST ; I ; 165
3RISFA H T el AT SATeTaX TATGRT SAST FalTclT 52

(@) (i) 3R (iv)
(&) (i) 3 (iv)
() (i) 3R (ii)

(3) (ii) 3 (iii)

Q12 G 3cTe w181 8|

(TH ITSHDIH
(&) &g

@) TR

(3N) Frar

Q13 GET STAT & oI g 7 & Ao it 572

(T)SFERAT
EUEEED
CSIEIRESS]
EGIE!

5N

Q14 faegd Sod H THbA & HROT T cToe] glarg

WEEEIEGIEDS

(&) FreTeT ST T F arel Al AR
(&) Icrer fWhetrde

(3Y) Tod o TATH hd h 3l I

Q15 fAwfaf@d & @ sl faegd 1 e =gl §7?



(T)TelTiEch
(Ebi’f)iﬂﬁ’r
(s
(ENABIST

HlHI Al

Q16. AT T ITFTR I T T g &

&

W

Sheep

(T) QATRTERT
(afT) AR
(&) el
(3) TaTErY

Q17. TIAT AR & Ugel TTT HAT hieT A TSegier 15 3PS 1947 Y ARAT £aoT BgIraT
UT?

(T) 1. Tl 941G

(&) TER TeATHTS Tl
(&) ST A®

(3T) FHGTeAT ey

T2+718. foaar frd Sietarfa & 27
(@)t

()red

@3RG

(3Y) TqATT

T2719. WHO &7 Gigicd §9 &7 572
(tr)faaanm—q'm

(a) 99T TATELT e

(&) farea &1 FareeT 3T

() AfRT TaTEL oA




Q20. &l TT 2T AR T YSIET A6l 572
T) arfehedret

&) sTdTer

a7) ST ATer

) &9

GO [
Q21 T AR TR Acdichdl HISC ¢l

T) I[aTel

E))
?ﬁ)gw

?r)ﬂsfﬁﬁq—‘d
Q22 HRd #, SeTaAe AT I YE TS

9

a) 15 3TET 1995  b) 15 39TET 1985  ¢) 15 3@/ 2005  d) 15 37971&d 2015
Q23 Teh JUHT TR AT $-HIAY HUA § |

(T) 37AST.HIHA
CUREGEEICar:)
(@) fSar.sie

(31) T HIA

Q24 TFHEIST H fAehed &7 39T I, §H TIST HIT I Thd &
AT RO IT0TAT.

(T)FelFeleT

() THTH Tah o
GURICECIED
(3) Areds



Answers:
1D 2B 3A 4A 5A 6B 7C 8B 9C 10C M1.D 12D 13.A
14.C 15.A 16.A 17.C 18A 19B 20.D 21.C 22.A 23.A 24.A



